

14/12/2018

4.1.2

AREA STATEMENT SPORT COMPLEX/ SWIMMING POOL

Badminton Hall	- 28.4 x 18.60	= 528.24
Indoor Games	- 6.72 x 24.98	= 167.87
Boy's /Ladies Change Room	- 17.755 x 12.57	= 223.18
Boy's / Ladies Gym	- 32.45 x 9.46	= 306.98
Swimming Pool Side passage	- 2.965 x 18.68	= 55.39
Swimming Pool	- 38.95 x 63.06	= 2456.19
	(-) -7.35 x 4.35	(-) 31.97
	(-) -18.75 x 5.55	(-) 104.06
Swimming Pool = 25%	43.47 x 53.07	= 576.74
Entrance	- 14.3 x 5.60	= 80.08
Balancing Tank	- 20.095 x 8.05	= 161.74
Ladies Gym Passage	- 9.30 x 5.25	= 48.83
	-7.45 x 3.00	(-) 22.353

4446.86 Sq.M.

47848.21 Sq.Ft.

Ch

Yeo)e .V.A

CIVIL ENGINEER

Dr. Vithalrao Vikhe Patil
Foundation, Ahmednagar

Dr. Vagan



AREA STATEMENT GROUND AREA

17/08/2020

Cricket	- 127.45 x 119.00	= 5,166.55 Sq.M.
Foot Ball	- 54.06 x 112.17	= 6,063.91 Sq.M.
Basket Ball	- 30.00 x 17.00	= 510.00 Sq.M.
Tennis Court	- 36.00 x 18.00	= 648.00 Sq.M.
Volley Ball	- 18.00 x 9.00	= 162.00 Sq.M.
Kho Kho	- 29.00 x 16.00	= 464.00 Sq.M.
Kabbadi	- 12.50 x 10.00	= 125.00 Sq.M.

Amphitheater - 4,098.00 Sq.M. (Capacity - 2000)

Dr. APJ Abdul Kalam Hall - 1,325.00 Sq.M. (Capacity - 1200)


CIVIL ENGINEER
 Dr. Vithalrao Vikhe Patil
 Foundation, Ahmednagar



Dr. Vithalrao Vikhe Patil Foundation, Ahmednagar

Medical College and Hospital

NAAC Accredited A+ & NABH Accredited



DVVPF/MCH/DO/2023/97

Date: 07/01/2023

Sports Club

S.N	NAME	DESIGNATION
1.	Dr. Sunil Natha Mhaske, Dean	Chairman
2.	Dr. Kiran Vakade- Pharmacology	In-charge
3.	Dr. Dnyanesh Gagare -Physiology	Member
4.	Dr. Vijay Kumar-Pharmacology	Member
5.	Dr. Mrs. Anita Raut- Bio Chemistry	Member
6.	Ms. Manisha Tagad -Pharmacology	Member
7.	Dr. Sneha Murade-Ophthalmology	Secretary




Dr. Sunil Mhaske
Dean

Copy for information:

The Director, DVVPF's Medical College, A'nagar.

Copy to:

All Heads of Dept. & concerned members



Dr. Vithalrao Vikhe Patil Foundation, Ahmednagar

Medical College and Hospital

NAAC Accredited A+ & NABH Accredited



DVVPF/MCH/DO/2023/46

Date: 07/01/2023

Sports Club Committee (Girls)

S.N.	Name	Designation
1.	Dr. Sunil Natha Mhaske, Dean	Chairman
2.	Dr. Anita Raut, Assistant Professor, Biochemistry	In Charge
3.	Dr. Shaila Puranit, Professor, Pathology	Member
4.	Dr. Sneha Murade, Assistant Professor, Ophthalmology	Member
5.	Dr. Sonal Shinde- Nikam, Assistant Professor, Paediatrics	Member
4.	Ms. Manisha Tagad, Tutor, Pharmacology	Member
5.	Dr. Vidya Lahshmi, Assistant Professor, Anatomy	Member Secretary




Dr. Sunil Mhaske
Dean

Copy for information:

The Director, DVVPF's Medical College, A'ngar.

Copy to:

All Heads of Dept. & concerned members